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(1)
(2)
3)

)

“Jagriti Back to Work Yojnd '

Current ever
¢ for-

who have
Those young male perso™ .

left their job duc to some lllneSS. ¥
Those women, who have Losttheif job
due to personal reasons.
For those boys, who have Jost their
parents due to COVID.

For retired Government employees.

2. Where is the ‘Devnarayan Nagar Integrated

Housing Scheme’

being  developed in

Rajasthan for cattle owners?

(1)
3)

Sirohi (2) Tonk
Kota (@ Thalawar

3.  The global membership of Intemationa] Tele-

Communication Union (ITU) g I
2022, includes -

1)
3)

anuaxy
193 states '

(2) 105 stateg
90 states

@) 15 states -

4. “Veer Bal Diwas’ will be Observeq gy

on - Very year
(1) 9" January
(2) 13" March -
(3) 14" November
(4) 26“ December
5. Read the following slatemems cae
()  Per capita income j, o . Uy~
growth steadily fron as SSthap has
, 2021-22 at constan Fces 7. 118 to
(i)  The GSDP growth it o Q. 12)
11.04% against Indna J“Slhan is
rate of 9.20% in the y, P Erowth
constant prices (2011 1

Which of the following °Dtlo

1)
2)
3)
4)

01-

Only statement (i) j g Coneq,)
Only statement (ii) ; 8
Both statements (i) & i iy
Both statements (l)& ) e(me

e falSe

2021 22 at
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(1) W'\'\"T?\»Wmm(m)
OIS g% 91 To0 & forg |

@ 3 Froht BRo 9 i (o) o
bl AfFamaii & forg | .

3) PfIe B DR AT v @
o ASH B forv |

(@) g IS AR @ o
GYUTEDT B foIg o § SaaRET TR

UG IATARI AT el i i o
8 87

1) R
@3) - P

(2 <ie
4) A

S, 2022 TF RIS TEAR W

(ITU) & Afae wewar # wfdfed € -

@ 105 ¥
156 T

1) 193
3) 90 )

gt AR ATl e S -

M 9T
2) 13 7@ @

(3) 1433‘31“\’@
(4) 261%3@?3’*

7011 VIR
@ 2017-18 J 2021-22 a® afd sy

oy PR 9@ & -
aiy @ 2021-22 % fR qi tf(f
N rd 1 Aast
& il gﬁ: w9 ‘
. b5 F
gl 11.04% .
ﬁwr%ié;ﬁﬁaﬁﬂmﬁm
Ly wad @ (i) T4 i‘; 4
(3 aa FIT (ii)?ﬁlﬂ
b} @)@ (D) Wﬂﬁ
5 (i) AT =
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th ey
$ . On 29' April, 2022 Telecom Regulatory 6, e ) 29 3, 2022 B e ey
A.“‘homy of India (TRAI) has launched a : (’ﬁﬂm D 50 B GEIG) B Uee
pilot study for deploying 5G using street ¢ AT ® -
furniture gt - g ® ﬁl
@ Jaipur )T
@ Mumba | R L
(3) Kandla @ T
(4) Chandigarh @ @A
7. The 5Gi technology in India hz;s been 7. e ¥ 5Gi TPID faefere @ i -
: developed by - Sos (1) 9TE. s, Q. "=, A g Ty,
(1) IIT Madras, CEWiT and IIT ‘ e, €. (CEWIT) T e, aE. &,
Hyderabad ' TEE
(2) BARC and ISRO ¥ @ v R W (@) T
IR, 3. (g1)
(3) CDAC | Q) W
(4) TIRFand CERI | @ 2 I aR. e, or . L AR
3. (¥

8. How many players from Rajasthan 8. IoRem 3 f Y R R Y T
participated in Tokyo Para Olympics -2020? W—zozo - S o :

2 7 :
5 & 8 REE 2 7
3 6 @ @ ¢ .

9. Who has been nomin.ated as the chanrman. qf 9. T " WA b o 8
the committee, constituted for the formation | ""mﬂm - fea o
of new districts and to assess their need in . N%I:q mm & ] “
Rajasthan? T far T R

Niranjan A |
(1) Ramlubhaya (2) Niranjan Arya ) YW@W o o
(3) D.B.Gupta () Usha Sharma () 44 L f 'wwl :
ised by - o 4 S
10. “Darkathon 2022" was organised by - 10, w@h 1 -
o YITR, (CBI) &1
(2) NIA Q) " ™
all e RN, T (NIA) &R
@) ISRO o TN v e

e g i¥k0) 7
01-Y Page 3 OfN e Al
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11.  One observation is drawn from a population 1. v& wafe mRar Uy BT,

with probability density function,

1 .
f(X:9)=[5 i
0 ;

If the critical region for testing Ho: 8 = 1

0<x<6 :
elsewhere

against Hy : 0, = 2 is 1 < x < 1.5, then the

power of the test is -

1
f(x;9)=[§ » O<xc<p
0 ; elsewhere

@w-mmwé.mm:e:m
Hli_%=2$ﬁWqﬁmm$m

BITS 84 1<x<1.5 %,ﬁrqfr&maﬁmﬁa
3

(1 0.50 2) 025
@ 1) 050 2 025
3) 0.75 (4) None of these : \
_ ~ : 3 075 @ T ¥ B
12. The equation of the parabolic trend is 12.  WaaR® wgRy @1 wdligor
= “ 2 g
;ﬂ,%.6-+-2"4x 1.3%* 0 Y =46.6+2.4X - 1.3X22| % 77 1 3 ey
€ orn i i ' 2
€ origin is .Shlfted bacl_cward‘ by three WD wEiaRa e sy, o waafie gty
years, the €quation of parabolic trend will BT HHIDRT T SR
be- - . | :
@) Y=277-54x-13x? D Y=277-54%-13%°
(2 Y=51.1-54X-13x2 ) Y=511-54X-13%x2
@) Y=277+102X-13x2 @) Y=277+102X- 1.3x2
(4) None of the above @) 3‘T§'€H 9 B T8
3. If P = 118.045 and Pf = 118610 then 13. &R Po = 118.045 @ Bf = 118.610 2,
the value of PF? js - @ PP 1 A g —
M 118770 () 119.581 1) 118770 2) 119.581
3) 119.177 (4) 118.670 .3) 119177 4 118.670
14. " Ina SRSWR, population size is 100, number 14. SRSWR ¥, ST @1 i 100 & T
of draws in the sample is 18, population q R W e 18 ¥ o o
variance S = 300. Then the variance of the SZ =300 &, 1 AT AR BT fA==T 8-
sample mean is - '
2) 16.50
1) 9.00 (2) 16.50 A o
(3) 13.33 @) 16.66 L s i
e
Page 4 of 24
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15. Wthh of lhc followin arc' ! 1 -q a’ aﬁ:{—ﬁ SDRD %
of SDRDy b are part of mandate 15 Ry T g
Qa . ey
(2) Planning of Survey (@) wE @ AT
) Fonnulaliqn of sample design @) gfed ExaT Bl Rty
3 ; : : :
) Conducting of sample survey (3) wRICE WIS BT HATe
) Preparation of survey report L (4) EEET RerE T g
@) 1,2and 4 (2) 1,2and3 1) 1,274 (2 1,23
3 . ‘ = 5 <
@ L3and4 @ 2,344 3 1,3T4 @) 2,3w4
16. Which of the following is NOT a Sustainable 16. fr=fafad & ¥ PH—wT TH “\qﬁq o
Development Goal (SDG), whlch is to be @& (SDG)’ ¥ e &l =, RR 2030 7w
achieved by 20307 _ BRI o 27
(1) Gender Equality 1) ﬁﬁm AT
(2) Space Research @) iR TG
(3) Zero Hunger f Q) T Ty
(4) Partnership for the goals @) ey %g N
17. Which of the followihg relation between 17. Ty P - - f@ﬁ
central moments and raw moments is/are M . e
incorrect? '
) B
(1) pz = Ha'— 32’1y’ +2“1 (21 T Sy +2ul’3
W3 =
(2 p3' = Ms — 3kzity’ +Ll1 ’ @) It TR
= Hy = 14
(3) s = 4’ — 1R +3u2ul u1 (@) = ity +3uzu1 —6“1
24 M’ <
() wy' = e sl + Oz i SR g g g
4
(1) 1and2 @ ;a"j ) O 1w, @ 174
(3) 2and3 o o iR 2wy @ 374
: is giventobe 18,
18. The total fertility rate n @ IR 11 f)g wi:ls 0106 i 3619 2 | TE A
3619, Assuming that for every 100 giris, o [y h; 100 Uo e <% s
boys are born the gross reproduction T ::"'ﬁﬂﬁ @ e 10
’ . £ ghd T I
would be - @) 1756.80 E:T)‘ v o ‘
90 -
(1) 29289 @) 186220 @) 228,99 @ 1756.80
3) 3416.10 : 341
o . page 5 of 24 ReY
01- ‘ i
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S
: ith the new 19, apR QR s T Saen § .
19. 1If the old series is connected with 14 o Eg e
Seris of index numbers; is known as - T T e S %
(1) Backward Shifting (1) RosT iR
(2) Forward Shifting - (2) A TR
(3) Base Shifting 3 amxr\r wmmw
(4) None of the above @) Etl'g'cﬁ # ?b’fi e
20.  The income of five persons is as follows — 20, 5 afrqaf 4 g = 8 -
Person Income (X /Month) : e A R /78
A . 1700 A . 1700
B T 22300 B 2300
C 7000 o 7000
D : 8500 D 8500 .
E 5400 E 5400
The above series is of the type - S o P yopr @y g -
(1) Individual series (1) =fRrra Sf
(2) Discrete series (2) Gfteg Sof
(3) Continuous series € ‘?ﬁ?{ yofy
(4) Time series 4 F ﬂ}m‘h
21.  Conducting ‘sample registration system’ in 21 WRA H A7 q"—’ﬁ_‘b‘f“T W"f'ﬁ weTfe Ay
India is the responsibility of - B R e ¥
() Nsso @) cso (1) NSSO ' (2) cso
3) RGI (4) - DES 3) RGI 4) DES
22. X and Y are two randop variables with 22. X3IRY A g = & e e 798
variance o2

2 .
and oy respecuvely and r-is the
coefficient of correlatiop between them. If

U X+ KY and V= X+( )Y thenthe

value of K for Wwhich

01-Y

R R e

TiE #1 AW U = X 4 KY
V‘=x+(:—x)Y%.'?h K3 fg am @ @

: 3
and V are U TRV & He HE—aw i @l
uncorrelated is - BIT?

1) o ; | . &) =2

B ) ‘37 & —y o

@) % @) _o : s

Oy ‘:’.XL (3) ;f | ‘ -
e o

el
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27.

a y
St 1 1 I l r e (e -

M o o
.6745ﬁ (2) 1.25331%

() 1362632 -
63‘/; ) 1.961"-

7
If the annual trend equation with 2004 as
origin is Y=1128+6.48X , then the
monthly trend equationis -

(1) 9.4+045X (2) 094+ 0.045X
(3) 94+0.045X (4) 9.4+054X

Link relative in a time series removes which
type of influence?

(1) Long term trend

(2) Cyclic trend

(3) Irregular trend

(4) All of the above

Give the complete expectation of life at ages
30 and 31 for a particular group are
respectively 21.39 and 20.91 years and that
the number of living at age 30 is 41 176, then

the number that attains the age 31is-

(1) 41176 (2) 40176 .

(3) 39176 4) 42176

If the first four raw moments are 0,2,0,11

respectively, then the value of P2 is -
(1) 245
(2) 2.55
(3) 2.65

4) 275

01-Y

25.

26.

27.

page 7 of 24
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. @ ol mw%aﬁ

maﬁg_

(2) 1253312

vn

o
(1 0.6745 "

— 4 o
(3) 1362637 @ 196

a2 2004 ST (origin) T T grpy
qha 1=112.8+6.48X ? @ miey
Suefy EHEYE B —
1) 94+045X (2) 094+0045%
(3) 94+0.045X (4) 94+054X

e o AN ¥ safea smie few R
@ 9Td B BeTdT 87

(1) & Fiferd wgfRy

(2) @ ygf

@) fwafa wgfy

(@) SR T

fea mar & 5 vo e W @ ford 307

319 30 w gt Shra—srearan F 213

T W 20,91 7 # s 30 I W AT

B W 41176 2, o 31 A 9 @ E

m“ﬁmm -

M 476 @ 40176

O 39176 @ 42176

mn‘mmmmﬁmﬁ”

2018 4 B 1 WA &N ~

1) 2.45

@ 255 7’\'?;!
20

®) 265 (_4

@ 275
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28,

29,

30.

R — é

The Number of possiblc samp!

s equal O -
©F'S population size in SRSWR 2
(1) 25 @ 2
@) 10 W %

{50 units, a

From a population of N°

SRSWOR sample of size n=1
Denote the p9pp|at10n by

U={u;uz,u3,.;00e0150)- which  of the

2/ units  is

drawn,

Statement is true?

(1)  Probability that s unitis duplicated

in the sample is non-zero.
(2) Probability that both ur and us are in
the sample is 2—25 :
(3) uj unit is included in the sample with
 probability .
(4) Probability that the sample will

contain 12 distinct unit is %

Consider a single observation: from the

population f (x; 0) = %e"‘/e X20: 0> 0

Let x 2 1 be'the critical regiop fo; testiné

"Ho:0=2 againstHx:Bél.Whatarethe

. 31

probability of type 1 apg type 2 errors
respectively? -
e-1 1 ;
g e B
&) i1 @)
Ve .'Ve &

Circular test is satisfied oy .
y by the ind;
ndices

Ve-1

)

= H-
g

e~

(=

/

e

based ON......cccovvueen,
(1) Arithmetic meap
(V)
3
@

Harmonic mean
Geometric meap

All of the above

01-Y

ot

28.

29,

-30.

31.
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R S B R 33"‘”?%

(0 28 @ 2

3) 10 @ 3

T N=150 3HEa @ vy

IR 5 g @ Q:;I:JV; it

R e o R uﬁ'%m

U={ujuz,u;,........ u1s0} 9§ o Ff:

aﬁﬁwﬁmﬁﬁaﬁﬁmmmp ‘

(D w4 TBE, TE F m"rﬁla
S WIRIBAT I

2 wIAR uTE F W IHR whe
=

3) u,g_‘:ﬁ]’éﬂ"ﬁﬁ@ﬁﬂﬁm
iR = 2 |

(4) T H 12 SIS IPE & B
T 28 | |

TF SHE, SEE forer e T

heT f(X;9)=-1-e’x/e :x20;0>0 il

)
Rrar TRy | AR e Ho: 0=2 @ FYE

H: o= 1 @ mewp @R
(xz1) 2 drgR 1 w@ AR 2 I

Page 8 of 24
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SYMmetrical  distribution, mean 2. & T

2. In the W
deviation i equal to - g -
LNCE o @ B .,
@ (), @ (%o £
Q) o @3) (:::) o
Q) ¥)o | @) (%) o

3. The gain in efficiency due to stratified 33, f T anFel @ ford “ﬁ?‘mﬂ—?ﬁmm

random sampling (proportional allocation) argfees ufads (SRSWOR) 3 & ®ha

over Simple Random Sampling Without ufrana (i sear) & v 3 o
Replacement (SRSWOR) for the given |

AT -
data - Var(§,) = 24.08 T Var(y,,)p=18.06 2 -
Var(y,) = 24.08 and Var(¥s),=18.06 is -
(1) 30.30% (2) 32.33% | (1)_ 30.30% (2) 3233%
3) 33.33% @) 33.67% 3) 33.33% 4) 33.67%
34. A type I emor occurs in testing of 34. URFwq e § Q‘cﬁ'R & e fed
hypothesis, when we -

R, 9wy
(1) Reject a false null hypothesis

D I Revcr a1 s 7

D T Y o o oo

(3).3@‘51%%1@@%“&

® TN Y GRareq @ R T
N

(2) Reject a true null hypothesis
(3) Do not reject a false null hypothesis

(4) Do not reject a true null hypothesis

35. The mean of six numbers is 48. If one 35. WWWW a3 o @@ @A T
number is excluded, their mean becomes 42, & ﬁﬁn WY * 42 & Sl 2
« 1 Iyp7 WA
The excluded number is - werd ¥ ¥ y e
1) 78 @ 77 R Ge
O " H @7 S
= 4
01-Y )

' ( .
6
EEEH T —
~
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3 ‘ of
%. \Vho '““s \hc Vice % mmon Nm

'\a\ Og')

(1) The President of “‘d‘a :
(2) The Prime Minister of India
(3) Lower House of the Parliament

(4)  Chief Justice of India
If the lines of regression of Y on X and X on
Y are respectively aiX + biY + =0 and
axX + baY + c2=0, which of the following is
correct?
Q) a

by a2

37.

() aby<ahs

Q) (@) ajby<azby

P
a3 b
Sum of quarterly seasonal indices in
multiplicative model is -

(1) 600 . 2 0

(3) 12000 - @) 400
39. Construction of life-tables is based on the
assumption, that -

(1) Age-specific dwhmesareconstam

at all ages.

(2) Death rates _are upiformly
distributed betwcen.tw(, birth days.
(3) Mortality rates are same for males
and females populatiop, °

@ Al of the above

1% = 0.68.9 = 02565 = 1 3576
O'% = 1.6075, Cov X,Y)

= 0.35. then
r(X.Y) [correlation Coefficient between X
and Y] is -
1) 022 @) 029
3 035 @) None of the above

GET IT ON
Google Play

—

36. :‘?W?ﬁmﬁaﬁ% ™
(1) ARG & TKAN
(2) ¥RG @ FEFHEAT
() 6 @1 FEe v
@) ARd & T R
37. AR X WY IR Y RX 5 v 3
A aX + Y + = 08R aX 4y,
=0 % @ e IS smaw o
6)) %115;22 (2) azb;<aph,
?3) _:_13_;_; (4) a;by<ajb,
38, U whved ¥ IR AR e @
Sire fbamm Brar 87
(1) 600 2 0
(3) 12000 (4) 400
39, o aifrT B P fed A & T T
amEnRa 27
&) mmﬂ““‘ﬁm$m
fRer 21
) ﬁmﬁa%mﬂﬂﬂm
- ¥ faaRa g1 ;
® ﬂ—#@'ﬁqﬁwﬁm
& forg T 2
@) wogE v
ESRLLE
40. ufz X =0.68,Y = 0.25,0% 250
o2 = 1.6075 @ Cov V)~ g

r(X,Y)[XQE"Y R AR

2
029 f
1 022 @ :
@ I

@) 035
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41. Which of e
matched?

(1

)

() Elephant Festival - Jaipur
(@) Desert Festival - Jaisalmer

Brij Festival = Alwar

Summer Festival - Mt. Abu

History of Rajusllmn (Question Nos. 41 to 50)
following pair is not correctly 4. ﬁqﬁqﬂﬂ i CagRil 24 aferm T

GET IT ON
Google Play

¥

4y o R — A
(2) . o FEYHT — FISTE 3MMq
@) el wEead — TAgR

() 7 HE — FHAR

42 Which one of the following 'folk dances 42, fyrifefer 3 @ FA1 AT~ fora
represents Jalore district? &1 ufafafaa wwar 27
(1) Dhol (2) Chang (H @ (2) =7
(3)  Geendar (4) Bum 3) s 4) a9
43. Which of the following ancient sites is 43, frafafaa & 4 @@ o = e
related to Shivi Janpad? WUg ¥ Hafad 27
(1) Nagari (2) Nagar () - (2) =
(3) Rairh (4) Bairath 3 =T @4) T
4. The fort, which is also known as ‘Monsoon 44, g, St ‘HFIGH Wewr & AW F # T T
Palace’- ‘ B
(1)  Achalgarh fort (1) 3Tere o
(2) Sajjangarh fort (2) woTe g
(3) Gagron fort (3) TR ‘g*f
4) Mandalgarh fort 4) 'q]gm g‘q
45.  Who among the following built Eighty four 45. fr=ifeifaa § 9 fgy drdt =t & o
pillared cenotaph? &1 fmior Fxamar?
(1)  Rao Raja Budh Singh (W [ o gefiE
(2) De\{a (2) <@
(3) Rao Vishnu Singh (3) = fawy fHe
(@) Jaisi Bai @) <=M ar
" : figyd a1d@m ? wads
46. The founder of Singhthal branch of 46. IFEE W
Ramsnehi sect was - q -
(1) Lalgiri Ji ) w0
(2) Ram Charan Ji B} Srmme o
(3) Hariram Das Ji @) &R oh
(4) Santdas Ji @ vz sh
01-Y
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47,

§ A or his 1
The painter who i$ known

e ——

ife size

POrtrajys -

(n
(2)
3)
)

Match List-1 with List-11 and
Correct answe

Sahib Ram of Jaipu!

Nihal Chand of Klsh'm!:*“h ;

Ahmed Ali of Bikaaer ‘
Sahibdin of Mewar A

select the

r by using thc codes given

below —

(A)
(B)
(©)
(D)

(1)
(i)
(iii)
(iv)

List —I (Name of the Books)
Shringar Haar .
Raag Manjari ‘
Sangeet Mimansa
Bhav Manjari

List —IT (Name of the. Authors)
Kumbha

Hammir

“Pandit Bhav Bhatt

Pundrik Vitthal

Code -

(e))
(2
3)
@
49.

e}
2

(3)
“4)
50.

criticized
hanging Tatya Tope?-

(¢}
(2
3
4

Which of the fo]lownng
matched? .

Which one of the follgw;

A B C D :

® GG Gy)
(%ii) (ii) @ A (iv)
0o

(ii) v @ (i)

Pair is not correctly
(Books)
Nagdaman
Sur Singh
Rau Chhand
Jas Ratnakar
Raj Vinod

(Authol-s) :
- Sayan Jhula
- Madhodas Chafan

- Vithaldgg v
> Jag Jivan Bhatt
Wing Brigisy, Generals

the  Britjch
lish Govemment for

Captain Showerg
Major Burton

Col. Holmes
General H. G, RObérts

[:—_——""/\'

47.

48.

49.

50.

GET IT ON
Google Play

RE@ ol T ST afi Rt 3 fag
ST T & —
(1) SHAR BT AR
(3) dFHEFR BT ’EAT e
(4) ¥ars T Gifgde
?@Iaﬁiﬁlliﬁrﬁamaamaﬁ_\,ﬁﬁq
L (g B )
(A) 3R TR
(B) I HORY
(©) g AWET
(D) 9| HoRL
' AL (e & )
ORI
(i) 'R
(i) . WrwE
(iv) gosde faga
'avz\a._
A B C D
mn @ Gi) ~ GiD) (i)
@ (D) (ii) ) (iv)
@ O (iv) (ii) (iii)
@ @) (iv) @) (iii)
Pt 3 & @i W g gt T @
(g&TD) (D)
(1) AATTEHYT —mgg(:n
@) wRiE & BT — AR IR
(3) STERTATER — fagorer
@) I=faAE — SIS WE
ﬁwﬁﬁmwm@ﬁmmﬁ
B e 31 A
(1) ded gEd
(2) WoR ¥
@ e BT

@) SRS TEol. decH
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Computer (Question Nos. 51 to 60)

By default, the Margins for a blank document 51, gy, qw, 3fffF ¢ 2007 T TP R St
in MS Office Word 2007 are

5.

________________ on the QL) m Q?I m ‘q’[ﬁi‘q %‘ﬁ?ﬂ' w4 -\ﬁ
left and right. ¥
(1) 0.75" (2) . e (1) 0.75" (2) 1"
(3 125" @ 2 @ 125" @ 2

52. File extension of MS Office PowerPoint 2007 52, us, ®. aiffthd TR dige 2007 & ¥H
Macro-Enabled presentation is — ggee YoredH P qﬂs'c’vi BT TRCTM... 3|

(1) .ppt- (2) .pps ). - .ppt (2) .pps
(3) .pot (4) .pptm @) .pot (4) .pptm
53. Challenge-Response authentical used on 53, wfag ok W ¥ AT B B foU IR R
internet to set man and machine apart is known yga gRK-Tf SR TAART ...... HEcrdl
as - B ’ Bl
(1) OTP ' 1) sNA.
(2) CAPTCHA Q@ e
(3) QRCODE W
(4) PASSWORD ( 4)' —
54. MS Office Excel 2007 actually stores numbers 54, TH. T, 3iffthe gaRier 2007 ZW Tﬁ?
with only.......o.crm.n..... digits of precision. f;'qg """"" q® DI Fegall |
1 -12 @ 13 ®n 12 2 13
(3 14 @ 15 ' ; 3 14 @ 15
55. 1In MS-Word, how can you increase the font 55. UH.QH. I8 %, 3y =yfag Save @ BI< PR
- ' 14
size of selected text by one point every time? W AR T fig & B9 war wad
(1) ° By pressing Ctrl + ] ) Cul+] ST
(2) By pressing Ctrl + [ : (2)  Curl + [ g3y
(3) By pressing Ctrl + ) ' 3)  Ctrl + } TarHR
(4) By pressing Ctrl + { . @)  Cul+ TaTY
i
01-Y
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|
S6. I MS-Excel, output of function = MID 56, % TH. m ph. " (WFI) e
(“INDIA™, 2, 3) will be - (‘INDIA”, 2, 3) 3T STSCYC g —
(1) ND (1) ND
(2) NDI (2) NDI
| G3) DI @) DI
(4) Error (4) ' Error |
ST. In MS-PowerPoint, which of the following 57, . T3 TR @IEE T el B W §
option is used to move into next cell of a ; iG] Ef\» forg f=1 3 & O w1 Rew I 3
table? 3 : AT T 87
(1) Ctr +Tab (1) Ctrl+Tab .
(2) Enter . (2) Enter
(3) Tab @) Tab
4) Cul+Shift - (@ Ctl+Shift -
8. In MS-Word, we can change case of selected . 58. TH. TH. o€ ¥, &9 wufg e o7 a9 (TR,
- text (upper case, lower case, sentence case) SRR, {7 BE) . 3 WA A gRafdg
using - | L @ T HA § |

(1) Shift+F3 () Cul+F3

@) Shift+F3  (2) Cul+F3
@) Shift+FS @) Cul+F7

@) Shift+F5 (@) Cul+F7

9. In which topology, frw Srrefeh %, Yeadt @ T v W

computers of the network 59.

are connected to each other in circular fashion?

¥ TR/ W T @ o B
(1) Star @ Ring 1 ®R @ fa
(3) Mesh . 4) Bus 3) ﬁgr 4 9 |
60. In MS

-Excel, which of (e following is 60. Tw. ww. waRw T @ ¥ 4w R
suitable option to make all content visible

i | T DT & fe it gRr weRfa a
within cell by displaying it on multple fines? @ o frt & B 1 R Swg ¥
(1) View—Zoom o

. | (1) View—Zoom
(2) Textto colump

- (2) Text to column
(3) Message and Center

_ (3) Message and Center
(4)  Wrap text 4) Wrap text
01-Y <

Page 14 of 24



https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Addal2417
Google Play

D _
Geography (Question Nos. 61-70)
g1. The correct sequence in descending order of 61, mﬁrﬁ U # wae (an)
the districts of Rajasthan according to W-ﬂa’mﬁ%mﬁlmﬁm
percentage of Scheduled caste population .
(2011) s - ) g, T T Ll
(1) Hanumangarh, Ganganagar, Churu, ;
Karauli @) w4, o gAre, TR
(2) Karauli, Churu, Hanumangarh, ‘ . i
Ganganagar 3) TR, i, gj’qFFTE kS k.
(3) Ganganagar, Karauli, 2
Hanumangarh, Churd (g TR, TS, T, T
(4) Ganganagar, Hanumangarh,
Karauli, Churu : . &
6. Rajasthan launched the Wind & Hybrid  62. o BN S Td TEhe T diferd
Energy Policy in the year - % Har =
(1) 2011 @ 2011
(2) 2019 (2) 2019
(3) 2020 ‘ (3) 2020
(4) 2022 ' @ 2022

63. As per the Administrative Report 2021 by 63. <R a9 T & waNe siaaet 2021
theDept.ofForest,Rajasthan,Lhedisu'ict a}magmmaﬁaﬁa;qmaqéa

v.hereacmalprotectedforestareaisreported SRPpaT TARa & a8 & —
- maximum, is - : '
(1) Karauli (2) Udaipur (1) =l (&y” SS9
(3) Banswara  (4) Jhalawar _ @) diwEel 00 @) FEEE
64. Vertisols soil is mainly found in- 64. aﬁawgamﬁmiﬁﬂ?—
(1) Jhalawar, Kota, Bundi, Baran (1) wEES, PE T i forall d
districts : : ﬂ' .
(2) Churu, Sikar, Jhunjhunu, Nagaur @ = - FEL .
districts @ REE, T, seag RrieTe R
(3) Sirohi, Pali, Udaipur, Chittorgarh B |
districts
(4) Jaisalmer, ~Barmer, Bikaner, (@) SRR, areir, forrR, SR o
Jodhpur districts q .
65. Devgarh Wind Energy Project is located  65. :?ﬂa RERECT I 1500 o | A— # sraferd
at - [
(1) Jaisalmer (1) SHeR
(2) Hanumangarh Q) R
(3) Pratapgarh (3) waTe )
(4) Baran @)  ari

01-%Y - Page 15 of 24
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06,

67.

68.

69.

70.

In which of the followihg rcgilnn.q in 66,
Rajasthan ‘Badland Topography" I8 found?

(1) Luni Basin ;

(2) Chambal Basin

(3)  Shekhawati ]

(4) . Bangar region | AL

Which one of the following is not a joint 67,

irrigation project of Punjab, Haryana and
Rajasthan states?

(1) Bhakhra-Nangal Project , -
(2)  Beas Project

(3)  Gurgaon Canal Project:

(4) - Sidhmukh Project

Which district of Rajasthan agriculture has 68,

been adversely affected by Bean problem?
(1) Kota 3 '
(2) Alwar
(3) Hanumangarh .
(4) Banswara
Match the following - 69.
District Copper deposit area
(A) Alwar - (). Padar Ki pal
“(B)  Dungarpur (2) Madan Kudan
(C) Jhunjhunu  (3) Bhagoni
(D) Sikar @) Baleshwar
Code -
A B C D
@ 3 I 2 4
(2) 4 | 2 3
(3) 3 2 | 4
(4) 2 | 4 3

In which region of Jaipur, e
Safari Park’ is situated?

(1) Kukas (2)
(3)  Jhotwara @)

‘Leopard 70,

Mohanpura
Jhalana

GET IT ON
Google Play

R ——

frafeftaa # @ YORUFT @ fg gayr 9
g AR gy sify 82

(1) e AR
2y e A
3) Y@

()  afrg waw
frer @ dF W @ dome, gl
RIS Wt @Y Siga Rian uRaern a8

LI

(1)  TREg-AiTed ulRarser
(2) @Rt uRasEr
A g 7w uRasEr
@) frgya uRasEn
WORAT & faw R A @ ) wwen gw
Y By afy i) 27
(1) ®er
(2) 3R
Q) wTrTg
4) aiarg
Fr=iferae @ sphferr R -
forem afar vieR &
(A) 3R (1) urez &\ urd
B) YRR (2) WG G
©) wErL (3) W
(D) Maw (4) AR
?fz\? -
A B C D
(N 3 (. 2 4
2) 4 1 %, .3
@ 3 2 1 4 |
(4) 2 1 4 3

ST @ w8 i g < g R
i .

(1) w3 (2) wEgR
(3)  whears (4) I

/ ‘

0 =
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Economics (Question Nos. 71 to 90)

1. Which of the following is NOT a function of ~ 71,
Commercial Banks?

(1

(2)

3)

Accepting of deposits
Credit creation
Purchase and sale of government
securities |
(4) Credit control
7. Which of the following factors is a fiscal 72.
measure to control inflation?
(1) Raising Bank Rate
(2) Reduction of Government
. Spendings
Q) Increase in cash reserve ratio
@
The short run supply curve of the perfectly  73.
- competitive firm is given by -
(1) the rising portion of its short run
marginal cost curve over and above

The encouragement of savings

..

GET IT ON
Google Play

e # 1 T SR 41 31 g

6 87

(1) g e

(2) @ frr I |

Ay mmﬁmm—ﬁmm

@) wrg g eX

Sy 4 Y R Jarepa R
o SUd 87

1) o A I

@) w8 aEa d T

() THC Py I A L

@) 9o P TR P

oo ey w1 SreaTel gt @ ST
ST 8 . :

@) ST arad anT ah B FIN

R re s | 1 eI S B E

/4

~ the average variable cost gadr gai |l

(2) the rising portion of its short run ' @) 3readIe M — 3T @ Rerfa &
marginal cost curve over and above SR B GART @rTd b P dedl
the break-even point g3 91T '

(3) the rising portion of its short run (3) 3w\a @A 9P B SR BT Z‘g
marginal cost over and above the areqeTei A= SrTd dsp BT dedl
short run average cost curve 3T I ?

(@) the rising portion of its short run (4) SToUBIeN T b DI qEdl g3
marginal cost curve HIT

74.  The monopolist will be in equilibrium at that 74. Q?b'lﬁl'cb'm 9 SET ¥R U WG ¥ g

Jevel of output where the price elasticity of STet AT Bl DA oa e -

demand is - ) R

(1) less thanone
. (2) T 9 s
.(2) more than one
(3) zero @ T
@) Both(1)and (3) (4 (1) ar (3) |
01 _v Page 17 of 24,
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80.

¢ 2019
As por Tndian Ratway yoar S 201920,

the share of Rajasthan in the total length of

Tndian Ratways toute at the end of March

2020 was -

LR @ 783%

Q) N @) 1083%
Which of the following is NOT exception to
the law of demand?

() Veblen goads

Q) Bandwagon goods

Q) Giften goods

) Nommal goods
As per agricultural census . 2015-16, the

averge size of operational land holdings in
Rajasthan is -

() 1.8 Heetare

(2) 2.73 Hectare
) d62Hectare (4)  5.13 Hectare
Acconding to the advance estimates for the

year 2021-22, the per capita income ‘of

I
&)}

74000

‘ @ Ts1231
T 107003

@) T135218

Which of the following statement is NOT
correct?

(1) Monopoly price is greater than
perfect competitive price.

(@) Perfect competitive  output s
greater than monopoly output.

3)  Maximum ceonomic efficiency is

“ achieved in perfect competition.

Demam‘i curve of firm in perfect
competition i Negatiy

Which of the following cop
in the revenye receipts
Rajasthan dun'ng 2021-229

ely sloped.

(1)  Own Tax revenue

(2) Non-tax evenye

(3) Sharein central taxes
(4)  Union grapy,

01-Y

3

Rajasthan at constant (2011-1 2) prices was -

75I

76.

71,

78.

79.

tributed highest 80,
of the state of

GET IT ON
Google Play

—<

v Yo, TS TR 2019.20 TR,
qﬁzozoa%mammmﬁaﬁv@
iard § ORI IS & firwr o —

(1) 6.83% 2) 7.83%
(3) 8.83% @) 10.83%
frafaled # Q7 @ frgm o1 ae T
(1) e TR
(2) dSAT TGY
C@) i TR
() W TR ~
PN TOFAT 2015-16 B IFER, IoE F
weTferd Y-Sl @1 AT PR § -
M) I8 FRW () 273w
@) 462FRW @) 5.13%FRW

af 2021-22 % fog i sFERT @ IFER,

2011-12 & ReR 7ol W XoReE @
widefem ama o —

(1) 74009% (23/8_1231?

(3) © 107903 % 4) 135218%

1 ¥ P T w8 ¥

1) TUHRHR B qot g @ 3§
s Bl 7

@ T wREr S, TR
AR ¥ s & 2|

@y T R ¥ o 0T
PR W Bl B |

@ o s od @ AT T
FOHS STl BT Bl 8 | o
2021-22&313@*&%@41?‘\"“*1”
B T @ v R A A
H WG BT AN waiRE o7
() W B SR I
@ MR- I

@) < RN e

@) W= IR /
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-81. As per Economjc Review 2021-22, the

GET IT ON
Google Play

81, anfofey e 202122 FFER, T 2021

preliminary forecast of total food grain ¥ e 3 wrr=il @ B S
production of Rajasthan for the year 2021-22 e W g -

is expected to be - ' :

(1) 279.45 Lakh Tonnes (1) 27945 =
.(2)  259.09 Lakh Tonnes (2) 259.09<@r@ T

(3)  225.20 Lakh Tonnes (3) 225.20m@ ¢4

(4)  210.09 Lakh Tonnes (4) 210.09 &g <

82 Which of the following is added during the 82, iy oy & 3aR ST A TOFT Be
calc.ulation ~of personal income from g B 3§ 5 SireT ST 27
National Income? -

(1) . Transfer payments (1) TR

(2)  Social security contributions (2) TSGR 3fereT
(3) Corporate taxes 3y A &=

(4)  Undistributed corporate profits @). i & afdafRa. am

83. 'What was the ihstalled' capacity of power as 83, IoUF H fRgER 2021 9% Suit @

on December 2021 in Rajasthan? AT ewar ar of?
@M 21836MW (1) 21836 ¥t
2) 19712MW @ 197123
3) 23321MW (3 23321 #rdie
(4) 24810 MW (4) 24810 Frdre ,

84.  As per Economic Review 2021-22, number 84, anfife weie 2021-22 & @R, fewaR
of Biomass Power Generation Plants 2021 O ISR F onfig qdeE St
commissioned in Rajasthan till December HIT B W off —

2021 were -
1 13 2 15 1 13 @ 15
@ 1 @ 9 e @ 9
85.  Which of the following is NOT a secondary 85, e % & 5z1 957 g <7 et oy a7
" or subsidiary function of money? WEAP DY Ef &2
(1) Standard of deferred payments (1 wifig IR a5y .
(2) Store of value (2 T T "y
(3) Transfer of value @) T B wwiieR
(4) Measure of value @ T & gy
01 -Y‘ Page 19 of 24 e
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86.

87.

89.

01 -

S P -
<Y

its that a Commercial
io of total deposits :

:3::\:!::: ?o keep with Reserve Bank of India
is called - 3 :

(1)  Statutory Liguidity Ratio

(2)  Credit-Deposit Ratio

(3) Legal Reserve Ratio

(4)  Cash Reserve Ratio

Which of the following is NOT the objective
of Rajasthan Agricultural Competitiveness
Project? ;

() To increase production -and
productivity in agriculture

To increase farmer’s income

To promote climate
agriculture
To provide financial assistance to
repay bank loans B &

Which of the following is the main objective
of Rajeev Gandhi Krishak Sathi - Sahayata
Yojana in Rajasthan? - |

1) lfrovide quality seeds to farmers in

time

Provide subsidy for Fasal Bima
Yojana )

Provide financial assistance for
Agricultural marketing -

Increasing  water supply
irrigation ‘

)
&)

resilient

@)

2)
-(3)
(C))

for

According to Economic review 2021-22; the
position of Rajasthay iy, Production of crude
oil in India is -

(1) First (2) Second

(3) Third 4) Fourth
If the supply cyrye of
posi[ively sloped, 5 rise
commodity, holging everything  else
constant, r.esults inand js referred to as -

(1) anincrease iy, supply

a commodity is
in the price of the

(2) anincrease ip e quantity supplied
3 a decrease ip Supply

(4) @ decrease ip e Quantity supplied

86.

87.

88.

89.

GET IT ON
Google Play

B

.@qm'ﬁag

ﬁmm%ﬁqﬁmﬁ:ﬁrw%
£ 98 PEol © - R
1, 3NN TR S
R R L

@) A B S

@) THE PN U

A | B I TE 2

1) gﬁﬁmammﬁm
@) 7% ™ @

) . STerAry STRA PR Y wgrar oy
@ 9 BT B YEE B faw

HERT AT

ISR # oM T Py el W
mmgmmﬁﬂﬁﬁﬁﬁm?
1) Pt BN o qof At B o
W Y& HRAT

PR R & ford fachr e
ERll

@) Riwrg & Rrd o omefd 4 €

mvv@hmzozl-zzﬁw-mm
T B S T @1 E

® e @ &

@ T “@ i@faﬂm*
R v awg w9 e T
¥ gfy aRemraws @ aren r’
ST ® — |
M ofif A gfE '

@ of @ A g
@ ff A =

@ off A T A e

@)
3)

Page 20 of 24



https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Addal247

GET IT ON
Google Play

Maths (Question Nos, 91 to 100) it
91. The ratio of income of A and Bis S:d andthe  91. A aiik B @) 3 @1 IFd 5:4 g M Yﬁa\p@
ratio of their expenditure is 4:3. Find the arg @1 A 4:3 2| A DI TMA Difgee \\ &
income of A, if each saves ¥ 1000. afe s 10003 ad Har 2l € ‘ﬁ—
(1) 6000 2) T5000 (1) 6000% (2)5000% \
R)) ?5500‘ @ 6500 (3) 5500% 4) 6500% Y
9
92. Ifva+vb=17andva—Vvb=1,thenthe 92. 37fg ,/'5+\/B=173ﬁ'\’ Va—vb=1 w3
oD O - N
value of Vab is — Vab @1 d9H & — 2%
® 17 2 64 - ay . 17 2) 64 N 3¢
@ 72 @ 100 B3 72 @ 100 ., §. 4
93. If in an examination, a student scored 25% 93. I TH faremef, Q?ﬁ e @ JoH U 9 H 8@3
marks in the first paper out of 180 marks, 180 el | A 25% 3 U HXaT 8, al S o
then how much he should score in the second fg—cﬂu o U5 F 220 3d A '\ﬁf fbaq 3id (
paper out of 220 marks so that he will get U FE B1 A 98 99 TN § ol 36% ‘?’
36% marks in all in the examination? - o U W GD? ?
1 42% @) 45% W 42% @y 45% .
__ "3 - il - (N
9. If 1.42= %, where p and q are natural @% A 1. 2="% wEp Lol Sobi e el g .
numbers having no common factor, then f%ﬂ?f} e ?ﬁ'&; YIS TUFETS & 8, ar
ptq. A pta q+ ? =
value of era s - Eal A
40 43 40 43
1) i ) = @M = 2y >
43 1u 4 8
3 = @ = 3 3 @ =
95. Some part of 12,000 was lent at 5% and 95. 12,000 I®T B AT 5% T AV AT 8% 6O
remaining part was lent at 8% per annum qiffer RS &AW WR SR fear 14| afe 6
simple interest, if the total interest received qul GYETT el ST 4860 T g gar &, ar
fference -
after 6 years is Z 4860, then the di 2l Wt ~ . -3
een these two parts is — "“ﬁ} = e : g C"\S:
3 o @) zzsob {00t @ 2800% 2 76
Ky (i Faow 3) 3400% 280
000 ( 4) 4000%
’Bq, (3) 3400 @ T4
4 2 —Som— 206}
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An amount is invested at compound interest 96,
payable annually. If the interest in first year

is ¥ 1500 and in second year it is L1620, then

the amount invested is =
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Ifa:b:c=1:3:5and c-a=2000, then 98.
the value of ‘b’ is -
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If the average of five observations x, (x +2),  100.

(x +4), (x+6), (x +8) is 15, then average of

the first three observations is equal to -
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